
N
am

e: ______________                                    5-a-day                                                 H
igher

26th A
ugust                                                     

Find the gradient of the line w
ith 

equation 2x − 4y = 7

The length of a side of a regular 
pentagon is 1200m

m
, correct to 2 

significant figures.

W
ork out the highest possible 

perim
eter of the pentagon.

A dice is rolled four tim
es. W

hat is 
the probability of obtaining a 6 four 
tim

es.

�

U
se the histogram

 to com
plete the 

frequency table.

�

©
 C

orbettm
aths 2016

w
w

w.corbettm
aths.com

N
am

e: ______________                                    5-a-day                                                 H
igher

26th A
ugust                                                     

Find the gradient of the line w
ith 

equation 2x − 4y = 7

The length of a side of a regular 
pentagon is 1200m

m
, correct to 2 

significant figures.

W
ork out the highest possible 

perim
eter of the pentagon.

A dice is rolled four tim
es. W

hat is 
the probability of obtaining a 6 four 
tim

es.

�

U
se the histogram

 to com
plete the 

frequency table.

�

©
 C

orbettm
aths 2016

w
w

w.corbettm
aths.com


